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play/e x 10: Part 1

1. Study:
a) There are 2 groups of 10 dots. In multiplication form:

"ooeeeeeeee 2 10 20
0 0000000000 10 2 20

b) Complete: 20is .............. times bigger than 2.

2. Study:

a) There are 3 groups of 10 dots. In multiplication form:

‘9000000000 3 10 30
100000000000 10 3 30
00000000000

b) Complete: 30is .............. times bigger than 3.

3. Let’s fill in the following answers.

a) 4x10= ....... b) 6 x10= .......
10x4= ...... 10x6= .......
c) 7x10= ....... d 9x10= .......
10x7= ...... 10x9= .......

Multiplying a

number by 70

makes it 70

times bigger-
4 X 10 means the same as 4 + 07 \_ 9

4. [Truel or False| ?
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